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Time : 3 hours 	 Maximum Marks : 45 

Note : All questions are compulsory. Marks are given against 

each question. 

1. 	Write the full form of the following 

(a) I P H 

(b) NIRTAR 

(c) DPEP 

(d) SSA  

(e) NIOH 

1x5=5 

2. 	Answer the following in one or two sentences : 

(a) Define CBR. 

(b) Hearing loss means. 

(c) Various types of families. 

(d) Define Counselling. 

(e) Community means. 

2x5=10 
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3. 	Write short notes on any four of the following : 
5x4=20 

(a) Role of family in rehabilitation of disabled 

person. 

(b) Parent support group 

(c) Impact of family on persons with hearing 

impairment 

(d) Barrier free environment 

(e) Auditory verbal approach 

	

4. 	Answer any one of the following : 
	10x1=10 

(a) What is awareness programme ? How is it 

important for early identification and 

intervention of children with hearing 

impairment ? Discuss. 

(b) Describe the impact of social structure and 

geographical conditions on the education of 

children with hearing impairment. 

(c) Explain in brief about various concessions 

and facilities for disabled person in the 

rehabilitation. 
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1. 	P14--t[oroci 	-farrT to-fuR : 	 1x5=5 

(a) 31T- . t. 

(b) 31i 317. t. 	3ITT. 

(c) t. 

(d) 	 

(e) 7. 37. 3. 

	

2. 	f=1 	1 (Ad T d-cR 	tirt arm X11 	\A : 	2x5=10 

(a) -t .*.3-17. ch) Lirtlif-Em --1-r--A7 I 

(b) 31-qur 	.1-0:1-4 I 

(c) -W119 T*-R 717-47 I 

(d) 1:17Mi c4 qi-o-Trrisra.  

(e) Trip-Fr A c -roa-zi 
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3. 	f-1 4—IrcirtIcf 	 Tifk-Rf furl fffd : 5x4=20 

(a) ratcli 	ii9-41i4 4 TthaR (*-1-  itiTrwr 

(b) 31-fiTI1T 4 1 ItchITV I 

(c) 53T-417 miRm o rctci l TR -ErftaR 	511-1q I 

(d) 11-WE clIclIGRul I 

(e) 31-rf-t itruT d,w14-1 

	

4. 	-1 4-1 ri .1c-f 	 3-clt q 	 : 	10x1=10 

(a) Al+Rc\chdi *1491144 	1T t? 141:11.  ffird G4tr t 

c2f TRR-lq 	frl 	zff f*-1:1 MchR 

-4--rt-ffof t ri-qi .1-) 

(b) 74 iftlf-O-W lifth9-TrazIlW 

fvtur TR 614 aia -PTig radlir 

--1-r--A7 I 

(c) 1-9--a 	cichc1141 °LI  	frqpi4 

ld -qr-q_Tr4 -Tr TffkitTi 4 auk 
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